Самостоятельная работа.   Вариант 1.
№1. Дано: (аn)- арифметическая прогрессия,      а1=3,4      а2=-0,2 .    

Найти: а3,  а4,   а5,   а6.

№2. Дано: (аn)- арифметическая прогрессия,      а1=-0,8 ,     d=4.
Найти: а24
№3. Дано: (аn)- арифметическая прогрессия,       а1=4,    а18=-11.
Найти: d
№4. Дано: (аn)- арифметическая прогрессия,      а1=14 ,     d=0,5.

Найти номер члена прогрессии, равного 17,5.
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Самостоятельная работа.   Вариант 2.

№1. Дано: (аn)- арифметическая прогрессия,      а1=2,8      а2=-0,4 .    

Найти: а3,  а4,   а5,   а6.

№2. Дано: (аn)- арифметическая прогрессия,      а1=-1,2 ,     d=3.
Найти: а24
№3. Дано: (аn)- арифметическая прогрессия,       а1=-0,5,    а7=1,9.

Найти: d
№4. Дано: (аn)- арифметическая прогрессия,      а1=12 ,     d=3.

Найти номер члена прогрессии, равного 90.
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